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  The Guess Test
Directions: Review the section, "How to Take Multiple Choice Tests," in your text.  See if you can guess the correct answer to the following questions:
1. The following is a true statement:

A. It is never a good idea to razzle the flotnot.

B. The flotnot is usually transom.

C. No flotnot is related to the spotted tackit.

D. All flotnots are sloggy.  

2. The flotnot is approximately how tall?

A. 100 ft.

B. 20 ft.

C. 1 ft.

D. 5 ft.

3. Stickwicks are most closely related to:

A. Mopans

B. Liklacs

C. Laklics

D. Foplas  

4. The transom quality of the toghood is observed in the:

A. Tackit

B. Mintoid

C. Flotnot

D. Multor  

5. The fretrat is often found in the same environment as the:

A. Do be do

B. Razzmatazz

C. La di da

D. Fogglehorned kintor

6. The flotnot is a close relative of the:

A. Tackit

B. Stickwick

C. Melorca

D. Pulpot

7. The medulax theory proposes that:

A. The incate of the fultor is rondo

B. The graning of medulas is usually a product of the nerino

C. The dashon is always slog

D. The fretrat is easily razzled by the chitty chitty bang bang

Guess Test Answers

1. B

The word "usually" is a general qualifier, which probably makes the statement true.  Notice that the other options have absolute qualifiers (never, no, all) often found in false statements.

2. D

To guess on this question, eliminate the high (100 ft.) and low (1 ft.) options and guess in the middle.  The next step is to apply common sense.  The action words used indicate that the flotnot is probably an animal.  The best guess is that it is 5 ft. tall, since not too many animals are 20 ft. tall.  

3. B or C

These answers look alike.  One of these answers is probably a decoy and the other is the correct answer.  There is a 50% chance that one of these options is correct.  

4. C

We can find the answer to this question in the first question on the test (the flotnot is usually transom.)

5. D

The other answers are similar and they are foolish.  

6. A

Again the answer is found in the first item on the test.  This statement is false: No flotnot is related to the spotted tackit.  Therefore the flotnot is related to the tackit.  

7. B

The words "medulax" and "medulas" are similar so this answer would be the best guess.    
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